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PSYCHOLOGY
Paper - 11
1. The central theme of Roger’s 1. Axdell sl Jut aiod B,

personality is the

(A) 2t
(A) Self

(B) wey
(B) Ego

(C) External reality (C) cugl ctrdlAsell

(D) Defense (D) oala

2. Arunnerwho keeps a faster pace when 2. s sl oflewt WA sl A
running with others demonstrates ay »sudl €13 B. wi el B

(A} Social perception (A) qHs Ycuels

(B) Social facilitation (B) s YlAul/ Yol
(C) Social pressure (C) fH®s £olla
(D) Social conformity (D) s aHlucl

3. Reasoning involves 3. dbui qudel wa B

A) Free association of ideas
(A) (A) Ysct usURlell (A

(B) Intensive thinking of the

problem (B) AU 3 et [Qazeu

(C) Recall of ideas (C) [AuRe] Yot: Yot

(D} Controlled sequence of _
(D) dsudell 2R 51

association




4. The general intelligence factor
{called g) is the major determinant
of performance on the intelligence

test items according to
(A) Thurstone
(B) Spearman
(C) Guttman

(D) Binet

5. Which of the following is NOT an

example of a test using recognition ?
(A) Fill in the blank

(B) Multiple choice

(C) True False

(D) Match the items

6. Which of the following kinds of
studies can truly demonstrate that

specific traits are indeed inherited ?
(A) Family studies
(B) Twin studies

(C) Adoption studies

(D) Case studies

ell Hal WML ol u2s (g)

A o sl Qo 512

sqcclo] Yut Relias B.
(A) Ul

(B) llA2 At
(C) dl2Rst

(D) olla

. ol Qouniell 53 Yculelstt si UiUeto]

GelgRel otell 2

(A) wiell asoeu Y2l
(B) wigldu wrieall
(C) A vat

(D) 258t 1S

. ollAstimiel s Ysirel weAl 3g

Assuud e2ld B ¥ [Qlle aael
WRUR clRUHL A & ?

(A) slgolls uou

(B) oslssl cllalSloll el
(C) £ri5 wllLSlell WaAML

(D) 3d w8




7'

Which of the following statistics is
generally used to estimate reliability
and validity ?

(A) The correlation coefficient
(B} The statistical deviation
(C) The percentile score

(D) The mean

. What is the center point of personality

in the Upanishads ?
(A) Self

(B) Purusha

(C) Sheath

(D) Jivatma

. Which factor is NOT much related to

happiness ?
(A) Self-esteem
(B) Educational level

(C} Close friendship or satisfactory

marriage

(D) Meaningful religion faith

7. Quaadl ua audda Hual W@

o{l At gl uissiauteoll 58 ugld
AlHLeA A Guallopl AalHi vUd & ?
(A) UeUolULS

(B) uissteuslla Quctot

(C) estaudl

(D) Htas

. Gulldenl calsAecto] 3os 53 B ?

(A) 2l
(B) ysu
(C) UAR8L

(D) ®d

. 53 Ues Yu W ulg Asoudg ol ?

(A) vl
(B) A&@ls R
(C) 2ug MAcll 3 AcAuHel5 Aot

(D) atelyel wills el




10.

11.

12.

13.

Main difference between conformity
and obedience is

(A) Peer group pressure
(B) Nature of task involved
(C) Presence of an authority figure

(D) None of the above

Which of the following is mainly due
to migration ?

(A) Mental well-being
(B) Acculturation stress
(C} Financial well-being

(D) Helplessness

What schedule of reinforcement is
the most resistant to extinction ?

(A) Continuous
(B) Fixed interval
(C) Fixed ratio

(D) Variable ratio

A relatively stable characteristic
that causes individuals to behave in

certain ways is called
(A) Norms (B) Aptitude

(C) Trait (D) Ability

10.

11.

12‘

13.

o3 UAL WA JULFUULEsL AR Hud
dslad sl 8§ ?

(A) dMlet o2o] €0l
(B) stal aiatqf :3u
(C) uxitaldlell stossl
(D) Gurettuiell 8¢5 o8l

ofl Aoumiell 53 yuaud @il
R B ?

(A) HelRls Yuustdl
(B) diglds oozt goul
(C) ulls yuustdl

(D) wuslAcdl

Yoictotell GUsH [Acluet 2 Alell ay
yldRAus 8.
(A) ¥dd

(B) [l GusH
(C) Rad el
(D) uRalda oellw?

YHM GAR cual@sdl 3 €
cfsallal wuys dla adal 5120 WA
8 ol g sl wd B,

(A) qlell (B) w01l
(C) cawL (D) &Ml




14.

15.

16.

17.

The‘extent to which a test
measures without error refers to

{A) Its validity
(B) Its reliability
(C) Its norms

(D) Its item analysis

According to Gardner, Pilots, Artists,
Astronauts, Navigators would be
likely to be high on

(A) Visual/spatial intelligence
(B) Verbal intelligence
(C) Naturalist intelligence

(D) Movement intelligence

Who prepared the first curriculum of
experimental Psychology in India ?

(A) Prof. N. N. Sengupta
(B) Prof. G. S. Bose
(C) Prof. Sir B. N. Seal

(D) Prof. S. C. Mitra

Research ethics do NOT include
(A) Honesty (B) Subjectivity

(C) Integrity (D) Objectivity

14.

15.

16‘

17.

508l ocd [Qott WA B A 58 {bu o
decl 0 B ?

(A) A aaddal

(B) d QuuAadisAl

(C) d wlRallell

(D) A clrq [@QeAmg

al§otetl HA [QAuMlctulEs), sesi3,
waLsta2Lo{lA, «AL[A sl
at &9l

(A) g2t/uasiell o
(B) Wk s o3

(C) el &

(D) 2 ¢

R AHL YlRPls Hellldsitetell yux
veawdsH A daur sAl el ?

(A) Ul Aet, Aot. Al el
(B) ul. %. . ol

(C) YL AR oll. At et
(D) YA {. R

Aol [AAHl ®del adl ol
(A} wHRlsl (B) cufsllscll

(C) Buil3cteil

(D) claqRlrscl




18.

19.

20.

Which is the third law of learning in

‘Gita’ ?

(A) Self efficacy
(B) Self control

(C) Self memory

(D) Bodily vairagya

Norms can be best defined as

(A) standard and expectations

shared by members of a society
(B) rules of law
(C) statistically normal behaviour

(D) universal rules of conduct

A researcher wants to test the effect
of one or more independent variables
on a set of two or more dependent

variables. He should use
(A) t-test
(B) ANOVA

(C) MANOVA

(D} Factorial analysis

18.

19.

20.

OlarHi Qatetell Al Aaun s & ?
(A) e Yoo /AR

(B) et (2@t

(C)  1yld

(D) audlRs dzioy

2ela 3w A cenvellld 52 8.

(A) AMegell el gil @uidd el
SRR R

(B) stalelell R0

(C) wmisstauallal WLl ot

(D) adetell Ad@s [Han

dollus ol AUl ay wWRd
URacllel e UR As vudl ay
wWda UR ol 2y ustual Uil
8. A8l Guallal sl 2Asu

(&) <l sl

(B) [QurQl yausswl

(C) dutsucll Qe

(D) ues (Aednel




21. The ability to perceive, use,

understand, manage and handle

21. 200 yeuellsd seuell, Gualal
sclo{l, AMcllefl, AAAeA s2cliell

emotions is known as el deunael] o Wls
Al B,

(A) Abstract intelligence (A) wyd oS

(B) Verbal intelligence (B) 2wk s off&

(C) woalls o3

(C) Emotional intelligence

(D) vicReaulbA< oS

(D) Interpersonal intelligence

22, YA BNSLHL AS ollell RAR uslal
aUdHtet 2l B, Ael sdald B,

22. A small stationary light in darkened

room appears to move is called

(A) Phi phenomenon (A) 518 ueell

(B) Autokinetic effect (B} 22l dul@a uu

(C) Induced movement (C) ueuRd ald

(D) Motion after effect (D) yellel ugdl atld

23. Emergence of a chemical substance | 23. A02Rs At Angiotensin II il

Angiotensin II results into Geun gl A B.

(A) Experience of hunger (A) euell ajetel

(B) Experience of thrust (B) ctRusll uajeict

(C) Increased intensity of sex desire (C) tclla Yreuell dlgdi aw

(D) Experience of sleep (D) Aletell L (G




24.

25.

26.

“l am happy because there is smile
on my face”. Which theory of emotion
does it indicate ?

(A) James — Lange
(B) Cannon - Bard
(C) Cognitive — Mediational

(D) Cognitive arousal

Which of the following may be an
effective option for same concerns
if there isn’t a therapist available in
community ?

(A) Family therapy
(B) Group therapy
(C) Self-help group

(D) Psychodynamic therapy

One morning Ram’s dad couldn’t
drive Ram to school. Instead, Ram
followed the same route on his bike
that his dad would have taken in the

car. This demonstrates
(A) Observation learning
(B) Insight learning

(C) Latent learning

(D) Conditioning

24.

25.

26.

“& Vel 8 SIRQL 3 HIRL UL UR B

8. L WA 52U Rgicall GeAu
§38 7

(A) - Aot

(B) ¥olol- ol
(C) sduUlcHs HLARD

(D) clltlcHs Grlosall

Bl AYelauul 51 GuARS o §la ol
ol Aeottniell 52f WMot Rl W2

USRS [Ascu B ?

(A) géol GUR
(B) AHs GuuR
(C) el-Usl2A %A

(D) HelolAelld Guar

As AR AHoll Al AHA {A AL

ot sl otdl. uel AAH doll ez wase
U A % R 2R ¥ RA dett Al

Aal US| ASA A dl2U Hell. L
gaid B,

A) Rdlaeuas Qe
(B) vld? yosej Rl
(C) Yyt (el

(D) w(@itlet




2'7. The tendency of people to like
others who express liking for them

is called

(A) Liking liking

(B) Group liking

(C) Reciprocity of liking

(D) Similarity

28. Which of the following models asserts
that behaviour is motivated by inner
forces over which individuals have

little control ?

(A) Psychodynamic model
(B) Behavioural model
(C) Cognitive model

(D) Humanistic model

29. VIA-IS measure is developed by
(A) Gallup and Clifton
(B) Peterson and Saligman

(C) Cattell

(D) Benson

27.

28.

29.

el cl8l 3 % oHalell eita yeldld
53 B duel ule sralell Aslell gRa
5% 8.

(A) ualeol waieoll
(B) & uigall
(C) udeallell wRuR s

(D) AHlelcll

olActiHiell 53 uldniot euryds wua
B ¥ cddet widRs ol sl WRA B,
Boll U c(5eiiloj vlle) (il dlu & ?

(A) HeloAellet uldntet
(B) dcletct€l uldutat
(C) dlatens yldniet

(D) Hetelctatel yldutet

VIA-IS HlUel oollce] 8.

(A) Ay ua sellgelet

(B) Ule:uet wal Ac{loifet
(C) 3ed

(D) QRetyet




30. A physician might see a new patient | 30. W5 Slse2 olcll €£loll QAR
with symptoms similar to certain

_ Yestaul FlAal yell gcloll dagl
cases he has seen in the past, so

he might diagnose this new patient UHlol A Ao Bletet Aell o oflulatl
with the same illness. It would be an 3wl 53l 93, 2L Gele2wt B.
example of

A L
(A) Functional fixedness (A) Bas RAReL

(B) Trial and error (B) Yl al o

(C) Mental set (C) HIARS dAcuRcll

(D) Confirmation bias (D) y¥ls2g.l ydae

31. What is NOT true about Jigsaw class | 31, %90l coluis w2 9 uy «12ll
room ?

(A) d ydoleal ualscHi HEE 53 B
{A) It helps to reduce prejudice

(B) Each student is independent of (B) £25 (Qeuell Asollostell 2l &

h oth .
cach otaet (C) A aduAct waloleldl uR e
(C) It put emphasis on shared 3 )
responsibility

D .
(D) It increases the involvement of (D) d €38 [aalaf[bﬂvﬂ uq'[al-ll
each student in the activity WAL au 8

32. In which of the following emphasisis | 32. o{lAsuuigll 53] 1 Eofat [Qeu

iven to pay attention to the present
&l P&y P Clrh-lloi &L U wilel Yl UR aGllR

8?2
(A) Actstcid taust

(B) 2A9s2lloL t2ulet
(C) Dynamlc meditation (C) IlclleHs llot

(D} Heartfulness meditation (D) geayds et

moment without judgment ?
(A) Mindfulness meditation

(B) Rajyog meditation




33. Different people in a group are
assigned different rates. The

process is known as

(A} Role differentiation

(B) Power structure

(C) Communication structure

(D) Pressure structure

34, The basic traits that form the core

of personality are called
(A) Surface traits

(B) Core traits

(C) Source traits

{D) Temperament traits

35. Which one of the followings are

female sex hormones ?
(A) Androgens

(B) Progesterones

(C) Aldosterones

(D) Estrosterones

33.

34.

35.

A oquul el el g WuaHl
AUQA B, Al YBaa (Acunigl 9 sél

aslA ?

(A) oAst [AAdlsw
(B) vl AUl
(C) dTal cAdslR Ul

(D) EGULRL RAsll

HOQt dal 3 @ culdcatl Yo ol

AL 53 V. dat sdaldl wa 8.

(A) AW URelt cael
(B) atleld g
(C) HOd cael

(D) weladtd cael

ofl Aettniell 520 #lloll il victaua
B ?
(A) AoHlogel

(B) Wl%g23Aet
(C) WSt

(D) ARleAet
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36.

37.

38.

39.

The type of research that determines
the strength of a relationship between
two variables is the

(A) Experiment
(B) Correlational study
(C) Survey

(D) Quasi experiment

Nightmares occur in
(A} REM sleep

(B} NREM - I sleep
(C) NREM - II sleep
(D} NREM - III sleep

A message “eat popcorn” is flashed
on a movie screen so quickly that
the audience doesn’t even notice it
consciously. It is an example of

(A) Subliminal perception
{B) Perceptual organisation
{C) Pattern recognition

{D) Perception of movement

According to Kubler-Ross, in which
stage the dying person tries to make a
deal with doctors or even with God ?

(A} Denial (B) Depression

(C) Anger (D) Bargaining

36. o URdcel d il doltisll gacil «issl
s delluat B,
(A) yloL
(B) UsUOGLULHS weU~
(C) ucata
(D) ud yNEls

37. gl Ggd 8.
{A) REM G
(B) NREM - I Qe
(C) NREM - II Qlusi
(D) NREM - IIT Qlani

38. [@AaHioll Usel U “Quslol wile” RAw
Azcll Bsudl nud B ¥ edsowl

Yoot A dal taueul des asdl o2l
vl GELERML B

(A) AAcet Ycrells

(B) ¥olsete] yuiallsel

(C) ellct Aaw

(D) a1l ycaugllset

39, FUAR-AUoll Hcl MofUlR S AGSSIHI
Nl Ul ¥t MR Sz 3 elolellet
A8 UEL sl Yot 53 B ?

(A) wells1R (B) Ml
(C) oA (D) HEloly




40. Which of the following research
study would be useful to explore the
opinions, knowledge, perceptions
and concerns of individuals in
regard to a particular topic ?

(A) Experimental (B) Correlational
(C) Qualitative (D) Applied

41. Hunger is caused by
I. Expectation of food
II. Deficiency of energy
III. Homeostatic disturbance

IV. Deficiency of oxygen.

Codes :
(A) I (B) I, 1I
(C) L, 11, III (D) L, 11, III, IV

42, Which one is NOT attitude’s

element ?
(A} Cognitive (B) Behaviour
(C) Affect (D) Intuition

43. Which of the following mainly occurs
due to faulty life style ?

(A) Dengue
(B) Coronary Heart Disease

(C) Diphtheria

(D) Corona

40.

41.

42.

43.

oflAotimiell 53) Aslust 5 AWssH
@Qua 12 1A, sliet, Yiallsnl wa
(5l sitedcllal el H2 Gualofl
ololgl ?

(A) utolls (B) usici@d
(C) 2lBUeHs (D) cucelRs
U Ggd B,

I. euell Qe

IL. ollsietl eia
I yHRAA wAe
IV. AEA%etodl Goru

A3l ¢
(A) I (B) I, II
(C) L 11, I1I (D) L, 11, I1I, IV

o{lActtmiell s3f As Ullclcirlle dect
a9l ?

(A) olldleHscll (B) clclat
(C) w™R (D) vl

oll Aottmiell 53] Yuucd wirlysd et
Rlel a B ?

(A) 3093y
(B) &€l (sctcudlell)
(C) Br@Rau (atsusllAo)

(D} 8Rlelt




44,

45.

46.

Area of psychology that seeks to
develop theory and practice that

prevent violence and conflicts

(A) Non-violence psychology

(B) Conflict management psychology
(C) Moral psychology

(D) Peace psychology

A young person wants a good job but
does NOT like the idea of leaving his

small village. It represents

{A) Approach - approach conflict
(B) Approach - avoidance conflict
(C) Avoidance — avoidance conflict

(D) None of the above

An educated guess based on prior
experiences that helps narrow down
the possible solutions for a problem
is called

(A) Trial and error
(B) Algorithms
(C) Heuristics

(D) Insights

44, Hstldsliote] AA ¥ Bl wal Aura
uesladl @aid wal Gualo
[Csuiaal Hidl B.

(A} wEu HelAsutot

(B) dud dulcet Hollldstiet

(C) dlds HellAsitet

(D) 2@ HelAstieat

45. As Ycllotal U3 53 HleAR B uiq
lclloll oioll JUHa siseuall [t
ML otfl. 2L GElgRW B,

(A) du-su Aud
(B) d2-Gwlal duy
(€) Gula-Guwia dud

(D) GuRell A3 atgl

46. yd gjeicell 2R LAl Q@A
tLRRl, % AHRUA 2zt G3cllal
HaAlEld scuMi HEE 5 B Asl

5& B.
(A) Yt AU
(B) uclRun
(C) UedMQUMRY G

(D) AidRyos




47.

48.

49,

Which part of the human brain
would be most similar to the brain
of a snake ?

(A} The limbic system
(B) The central core
(C) The forebrain

(D) The cerebral hemisphere

Which one of the following can be
used to find the scale values of
attitude statements, when method of
equal appearing intervals is used ?

(A) Mean
(B) Standard deviation
(C) Median

{D) Quartile deviation

Which of the following is true
about Vidya’ according to spiritual
psychology ?

(A) It represents true knowledge of
reality

(B) It is the root cause of suffering

(C) It can manifest as attachment to
material world

47. Hoicloit HOwEgell 52 AL AUl

Holegell alell UMl & ?

(A) URBAR da
(B) 3ol 3t (core)
(C) WS

(D) Hotsell aloud

48. %A¥ UHlet Bullcll BRIl ualdal
Guallol sRalHl wA AR ddel
[Quuolletl Heall ual Hi2 ol Astiniell

satell Gulol 53| sl © ?
(A) Hta15

(B) ynal [Quctet

(C) Mtalzel

(D) usls Quctot

49, WrAlH Hollldsiotoll U o{lA=tinizll
52f ‘lQa e Wy 8 ?
(A) A cliRclAscle] WY suot g2l &
(B) A AEolle] HU 51RQ B

(C) A llds %ol Wott AASLEL o
WU 52 8

(D) A el Wit A1 A A2 &

(D) It is related to false sense of self

4 ) 4 ) |




50.

51.

52.

53.

Positron Emission Tomography is an

effective technique for studying
(A) Brain (B) Behaviour

(C) Mind (D) Emotion

The rate of response in operant
conditioning is usually portrayed
by a

{A) Serial learning curve
(B) Cumulative curve
(C) Both (A) and (B)

(D) None

Sending messages of an intimidating
or threatening nature refers to

(A) Cyber bullying
(B} Sexual abuse
(C) Personal abuse

(D)} Message bullying

Jacob L. Moreno has propounded
(A) Experimental method

(B} Valuable method

(C) Sociometric method

(D} Field method

50.

51.

52.

53.

Wlglet Aallatet S0AWEL A A
ey sclel wUBRS UYBA B.
(B) cdlst
(D) At

(A} MO
(C) Mot

5125 @Al ulQenasi £

glal £aldciHl wa B,

(A) s@s RQawl as
(B) ARl as
(C) (A) U (B)

(D) As Ul A&l

sAMRU ¥ unslerdl ysirel Atau
Hiscicllef delot A &

(A) A eledlldl

(B) atc{laL 2llmel

(C) cABlotet elmgL

(D) e ereroldl

Bl A, HRAA 565 ualdodl
uaL 531 &l ?

(A) WA@s usld

(B) He altld ugld

(C) A BA ugld

(D) & ugld




54.

55.

56.

57.

Teena, who is very aggressive
becomes a boxer. It is an
example of

(A) Rationalization
(B) Reaction formation
(C) Displacement

(D) Sublimation

In which of the therapy clients are
directly challenged in their irrational
beliefs ?

(A) Psychoanalysis

(B) Rational emotive therapy
(C) Reality therapy

(D) Positive psychotherapy

Wellbeing is NOT characterized by
(A) Fresh air

(B) Sense of purpose

(C) Positive emotions

(D) Positive relationship

An individual’s belief in their
capacity to act in the ways
necessary to reach specific goals is
known as

(A) Self concept (B) Self esteem

(C) Self efficacy (D) Self respect

54.

55.

56.

57.

Elott, B wol sUS B A lsAR wloll
ates. vl GelgR0L &

(A) dlEswel

B) uldza Al

(C) Wleliciel

(D) GeellsRul

56 Guak ugldul wdllasll walss
Ui clillal {lell ussirauni »ud & ?
(A) HolllAaAMBt

(B) ctbolcl wANHS GUAR

(C) cdlzetlds GuauR

(D) Quas HeluUR

A Yuitsidlodl cua@lsa

ot2fl.

(A) cl® el

(B) &cell Aner

(C) Ruas i

(D) [Quas Aokl

c2((5elofl AWssu call Yl uslaucu
2 o3dl Ala st seuedl addaidl
Hlo2Ucllol 5& O,

(A) e vAIA (B) AlcHUoHlat
(C) @l uMeRl (D) Aot




58.

59.

60.

“l am bad at sports as I had not tried

hard enough.” It is an example of
(A) External locus of control

(B) Pessimism

(C) Internal locus of control

(D) Learned helplessness

Meena has overcome her fear of cats.
However, on one occasion her fear
returned when she faced a growling

cat. Such a reaction is called
(A) Stimulus discrimination
(B) Stimulus generalization

(C) Spontaneous recovery

(D) Higher order conditioning

At what stage a child begins to

display object permanence ?
(A) Sensorimotor stage

(B) Preoperational stage

(C) Concrete operational stage

(D} Formal operational stage

58, ‘¢ THAIHAHL WK ¢ sk 3 A

yell A yauy sl of scl.” ul
Gels &
(A) CU&l (A=A Fost

(B} [A2aueie
(C) RS Rt o
(D) RUEA wuslaAAL

59, louA Cleusdl yett Aol s UR sy

doeall 8, 13 s YA dsll 52 uesl
gl w2uR AQ o1detl 5l [@euslell
Al sal, w yldBa sdaa &

(A) Glus Aeeal
(B) G&lus aHe=llswl
(C) &S5 Yoty

(D) G tdla wElits

60. sal dusy cuns elllds (Bauall

gullsdllo] 93 5 & ?

(A) didesls 5135 dusst
(B) Yyl BaicHs cussl
(C) el Bauas dussl

(D) A4 BaHs dusst




61.

62.

63.

The body’s tendency to maintain
a balance among its internal
physiological states and the

environment is termed as
(A) Ambivalence
(B) Heterostatis
(C) Cognitive dissonance

(D) Homeostatis

What is the ultimate aim of
counselling for the individuals to

attain ?

(A) Self-knowledge

(B) Self-understanding
(C) Self-discovery

(D) Self-motivation

According to Erickson, at what
stage the developmental crisis is

generativity Vs stagnation ?
(A} Elementary school age
(B) Adolescence

(C) Early adulthood

(D) Middle adulthood

61.

62.

63.

o3l iR s wilRs EA[A2N ua
valaR@l a2 Adetet sucaledl

a4l ¢fa sdad B,

(A) qRURCL

(B) @eAélu

(C) oQuutems [Qiaule
(D) ¥HRAQ

cffullal ¥R sl HIZ ULl
vldu Gheat 9 B ?

(A) <l sl
(B) <l My
(C) ¢t vloy

(D) L YReU

ARsUAcl 1A @Asiuell salsélet sau
dolsstHl Geulesdl [ARe EBadl & ?

(A) dalls el aa
(B) (590luceu
(C) WRels Yuiazal

(D) Htal Yucliclael




64. Which cells produce myelin for the
neurons in the brain and spinal

cord ?

(A} Schwann cells

(B} Centrodendrocytes cells
(C) Oligodendrocytes cells

(D) All of the above

65. In which standard score the mean
is 5.5and S.D.is27?

(A) Sten score
(B) Z score
(C) Stanine score

(D) T score

66. Memory can be distorted by being
influenced by the individual’s
expectations rather than what has
actually happend. This is termed

as
(A) Mood dependent memory
(B) Mood congruence effect
(C) Flash bulb memory

(D) Confirmation bias

64.

65.

66.

5L 510l MOl VA 51529l
AAs M2 N AR (aclat) o
Auiel 52 &

(A) ¥<llet Sl

(B) Aopldofliauey sixll
(C) Wlol deglaueSeu sixll

(D) GuURell (il %

SAL YHIBG A HIUML HEAS 5.5 dlal
yuel (et 2 8 7
(A) ot 2812

(B) Z 2812
(C) RelleSotl 812

(D) T W2

ARAAHL g U B Aol e caulsaloll
wlau2ell yeuldd aga 2yau
3512 U A% B, dal 5& B.

(A) YS WURd 3y
(B) HS YUdlclcll UUR
(C) sAal oleot ¥Y(A

(D) uueatlcas ydos




67. Weber’s law describes the relationship | 67. Au2ell Ram yiRfels Geluet sl

between initial stimulus and el Aoiua aeld 8.
(A) Stimulus duration (A} Gélusoll Azl dsul

(B) Magnitude of sensation (B) dAestsll [Adet

(C) The just noticeable difference (C) AHAUAH dlad

(D) The sensory threshold (D) ddest GolR

68. Which is incorrect about laboratory | 68. UHigll 2] y2lol 2 W & ?

experiment ? . .
P (A4) dA URalle] saualoyet 531
(A) Independent variable can be

manipulated sl &
(B) External validity is high (B) ollgl Al Gl sl B
(C) Establishes cause-effect -

relationship (C) slad-s120A dolu A 53 B
(D) It can be replicated (D) Aell ylasld asu &

69. Reena has ability to adopt challenges | 69. Sttt 22 ld ussAaA usll

in a healthy manner. She is )
.. anclell gl 8. Agllell 9 &2
(A) Resilient

(A) RAlRaLUs
(B) Persistent (B) cceygl
(C) Hardworking (C) Héold
(D) None (D) ¥ls uel o8l

70. Ramesh uses leading questions and | 70. 202l £lRagflossts sl ypcu ua oA sl

role playing to help client accept aesagllel Gualal 53 wRlled Hee 82
their fteelings an CEXPETricnNces.
Ramesh follo%vs P 8. dMell ctolzll ua wlAculsARAA

513 B, N9 WA B,
(A) HolldeamgleHs GUAR

(B) utlld 3ot GuarR
(C) 2l GuAUR
(D) ddeualR

(A) Psychodynamic therapy
(B) Client centered therapy
(C) Gestalt therapy

(D) Behaviour therapy




71,

72.

73.

74.

Which cue is the reason for depth
perception with both eyes ?

(A) Convergence
(B) Linear perspective
(C) Interposition

(D) Texture gradient

Which of the following is NOT a pillar

of sufism ?
(A) Humility (B) Charity

(C) Truthfulness (D) Forgiveness

According to which theory positive
emotions do much more than make
us feel good in the moment ?

(A) Broaden and build
(B) PERMA
(C} Emotional Agility

(D) Resilience

Rahim experiences happiness
through pleasure and enjoyment.
It mainly indicates

(A) Eudaimonic principle
(B} PERMA principle
(C) Hedonic principle

(D} Entertainment principle

71.

72.

73.

74.

s2ll Al olol wiwell adl GLsiefatl
yelellsw|l HI2 slRRled B ?

(A) U Jodl5R0L

(B) s uRgex

(C) wtuY

(D) vdR%oA UldBle

ollActiuiell 520 yflaneal wal «efl ?

(A) Htetclcll (B) uHlel/Elet

(C) wxe (D) &L

sl Rglc WAk Quuas wudol
WLULLSL UL HBIHIL AR AL doll s2dl
U auR 53 B ?

(A) Qe wal RHlel (llset Aos
(Cles)
(B) PERMA

(€) 2lls uuadl
(D) RARAUUSA

&L lote ual liele gL/ YUl Yuiedl

uajelcl 53 B d YA g eald B?
(A) 43S Rgic
(B) PERMA Rgid

(C) &Slolls [Rgict

(D) Holl2osol Rgid




75.

76.

77.

78.

The approach that analyses mental
states and behaviour in terms of
their purpose is called

(A) Structuralism
(B) Functionalism
(C) Behaviourism

(D) Gestaltism

Positive reinforcement

the rate of responding, negative
reinforcement the rate
of responding.

(A) Increases, decreases
(B) Decreases, increases
(C) Increases, increases

(D) Decreases, decreases

In ancient Indian Psychology, the
successful control of the mind and
senses mechanism is called

(A) Patanjali system
(B} Codifiers system
(C) Shankara system

(D) Yoga system

Today, the concept of ‘ATTA’ or ‘Self’
in ‘Abhiddhamma’ known as

(A} Feeling (B) Aggression
(C) Emotion (D) Personality

75. HlRls RAQU wa ddoie] Al
ddell deelnl [QeAna 52 B, d
wfeloHa s&clul wd 8.

(A) UsALCLE
(B) stdauie

(C) adetalle
(D) el cle

76. [Qwas yQuy ylABGa e
)

AR us u(?l.ulu yABGal €24
],

(A) ar?, uald
(B) ¢al3, dulR
(C) duR, du?
(D) wald, uald

77. Yldlet el HoQstotHi Hot U
Blogall U2 SO (RIS HIZell il

9 sdaly ?
(A) U@ it
(B) 4l cdA
(C) els dA
(D) 2L dA

78, U WYl (ATTA) vl
(self) oll vUE YclclMlot ¥HAML 2L
AR welldl ] ?

() cwowrl (B) WsHSl
(C) wudat (D) calsct




79.

80.

81.

82.

When psychological tests are used
in personal selection, an important
concern regarding the tests is

(A) Costly

(B) Case of administration
(C) Validity

(D) Objectivity

Major inhibitory neurotransmitter
involved in sleep and inhibits
movement is

(A) Glutamate
(B) Norepinephrine
{C) Endorphins

(D) Gamma - aminobutyric acid

What is the median of the following
data ?

1,3,4,4,5,6,9
(A) 3 (B) 4
(C) 4.57 (D) 6

In which of the following approach
of counselling, the client is more
active ?

(A) Directive

(B) Non-directive

(C) Eclectic

(D) None of the above

79.

80.

81.

82.

rU? calFa uReollul HaAldsulls
sAZ el Gualol Ulal &R dell W2

Al vorRlell dled A B ¥ sWél
8.

(A) Budl

(B) dAlcstell dr0l
(C) asddl

(D) kgl

Hual AdAAAUES (32 ZlortdlleR)
3 % Gl Wal SCE{olAAA WARUM]
UAA B.

(A) xfaide

(B) ARUSASLE

(C) BoS1Slon

(D) durt-AHlAl 6dRs AR

ollAofl 1R Al Heazer g B 2

1, 3,4,4,5,6,9

A) 3 (B} 4
(C) 4.57 D) 6
o{lAetl el WRLLAHIY sl

ulld ay uGa B ?
(A) QT

(B) [@lot B aucus
(C) uea(lysd

(D) GuRell A ot &l




83.

84.

85.

86.

In an unbalanced or skewed
distribution, which measures the

central tendency in least biased is
(A) Mean (B) Median

(C} Mode (D) Range

If the assumed hypothesis is tested
for rejection considering it to be true
is called

(A) Null hypothesis
(B) Statistical hypothesis
(C) Simple hypothesis

(D)} Composite hypothesis

According to Kautilya’s
‘ARTHASHASTRA’ how many
aspects are required for the
learning process ?

{A) Five aspects
(B) Seven aspects
(C) Nine aspects

(D) Eleven aspects

The release of emotions is called
(A) Behaviour change

(B) Insight

(C) Mastery

(D) Catharsis

83.

84.

85.

86.

U@ ¥ gl @l B Jodla
el HIW 8, Al weoHl 10

ydowsaud ¢ & ?
(A) Mtaus
(C) wgHs

(B) Mtarel
(D) Aell

2 URel Gescustial Ul el
AURASIR 12 udlael sreuui wd Al

dal
(A) Yol Gescuell
(B) atisstauzlla Gescuott

(C) wél Gescuoall
(D) A3t Geseusty

sdala B,

slRcaloll ot yrtd ellwaodl

ylBauelt el wa la 9 ?
(A) Ui wl
(B) ALt WLl
(C) slcl WAl

(D) Bl wul

wldalell ulQlculsa 9 sdcuz ?
(A) delotHi 32512

(B) 3y

(C) Ayatel

(D) eualdRusl




87.

89.

90.

The word “PANNA” popular at the
time of Lord Buddha is known as
in present time.

(A) Insight
(B) Mental state
(C) Attention

(D) Perception

Which method was created to study
inter-personal relationship ?

(A) Experimental method
(B) Observation method
(C) Sociometric method

(D) Questionnaire method

Self-assertive behaviour is an
example of primarily

(A) Survival motive
(B) Stimulation motive
(C) Security motive

(D) Abundancy motive

The starting point of thinking is
(A) Goal (B) Drive
(C) Tension (D) Conflict

87.

88.

89.

90.

G MIlcllototl YHAHL“PANNA" (Ul)
A€ YA[AA &cll % Aol AHAHL
A3l Wnvua B.

(A) Uy

(B) HetRs RAMQ
(C) taitst

(D) YeullswL

i dalsds Aol wewH sl
W12 58 Ugldell el sl il

ecdl ?

(A) Y21 us@

(B) RRaw usld
(C) urM@ usld
(D) usiacl usld

wRUIdlug A yaod A Gelewl B
(A) AURA Y0U
(B) Gdoset Y0
(C) ¥Rawq e

(D) w@s12 YweU

(Qauzouell az2ud u 8.
(A) day (B} €:at
(C) st (D) dud




91.

92.

93.

Tony put less effort to achieve goal
when work in a group than working

alone. Tony is more likely to be
(A} Under stress

(B} Obedient

(C) Group leader

(D) Social loafer

For a study on sex workers, which
sampling technique would be

appropriate ?

(A) Snowball sample

(B) Stratified random sample
(C) Random sample

(D) Quota sample

Which of the following test is suitable
to measure intelligence of a child

less than five years ?
(A) WPPSI

(B) WAIS

(C) WISC

(D) WCIS

91.

92.

93.

Soll &R UHEHL 51U 52 B QAR
A5 5 53 doll $cdl dgaal udlRl
anal AL Yy 53 8. 2l

Aol asact ay &,

(A) dRuaHi
(B) wslUEAs
(C) UHS Al

(D) AHYS SIHAR

Asu afAell veAR HE 585 [ledlot
yYylsa 2oL 234 7

(A) wlolet [(ledd
(B} sl agw bed
(C) gy [ed

(D) salet [esd

ollAatuiell 56 sWEl uin axell
ol Aol GlLSl Gffdriust HER
ALY & ?

(A) WPPSI
(B) WAIS
(C) WISC

(D) WCIS




94, The prototype of the modern
intelligence test for children was

first developed by
(A) Stanford (B) Terman

(C) Binet (D) Wechsler

95, In a projective test of personality,
the stimulus must be

(A) Simple
(B) Ambiguous
(C) Complicated

(D) Pictorial

96. The ego states as proposed in
transactional analysis

(A) Id, Ego, Super ego

{B) Child, Adolescent, Adult
(C) Child, Adult, Elderly

(D) Adult, Child, Parent

97. ldeas that represent a class or
category of objects, events or
activities is called

(A) Cluster
{(B) Concept
(C) Mental imagery

(D) Categorization

94.

95.

96.

97.

wlndl M2 wUyBls gluRawe ya
AU Slotl gl A yaud [[Asuiacuni

R & ?
(A) RoAHS
(€) ollal

(B) 2¥at
(D) AsUAR

c5lcctell yauel sélHl Glus
% &g AU,

(A) g
(B) RUR
(C) »Ra
(D) Rucus

Uil caasl? [Qeanei yraldd
uUeH URRAAA B.

(A) U5, ueH, Gul uey
(B) suns, (32, Yudt
(C) “llas, Yud, g4

(D) Yvuet, cllars, wul@euas

g, dzeattxll 3 yYqiAlell colal
ugal w AQle] yldblRlea 5201
Qs 9 52 & 7

(A) 1He
(B) ¥sCuetll

(C) HelRs yldn

(D) aollswt




98. The study of appropriate use of | 98. AHYs URYauHi elrell GRA
GUAoLetl wWeALUe

55 8.

(A) uRoudl

language in social context is called

(A) Pragmatics

(B) Semantics (B) R st
(C) Rhetoric (C) AcislauB
(D) Information processing theory (D) A ylau Rsid
99, According to Sternberg, 99. waloldlell M “ofs WU WA

“Book Smarts” refers to
(A) QeAueUMs ol
(A) Analytical intelligence
(B) URelleHs offs:

(B) Creative intelligence

(C) Practical intelligence (©) dglRs (5'@’

(D) Emotional intelligence (D) wAdls offe

100. The IQ of an intellectual disabled | 100. Hollgoinn ca(EAoll ofenis 9 &3 7

person will be

(a) 70 «ll «{ta
(A) Below 70

(B) 71 &l 100 <fl a2
(B) Between 71 to 100

100 &t 120 ofl a2
(C) Between 100 to 120 (€)

(D) Above 120 (D) 120 &l GUR
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